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Pir Panjal range is the part of
(1) Sub-Himalayas

(2) Lesser Himalayas .

(3) Inner Himalayas

(4) Trans Himalayas

- The 'p_rojéction in -which distance

between latitudes -
equatorwards is

(1) Polar zenithal equal area
(2) Cylindrical equal area
(3) Conical equal area

(4) Sinusoidal

decreases

A Bonne’s projection has been drawn
assuming 50° N. as standard parallel,
if it is redrawn assuming 25° N. as,
standard parailel, the curvature of
latitudes in it will

(1) remain the same

- (2) increase
- (3) decrease

(4) increase north of standard parallel
and decrease south of it

The measire of central tendency about

which the sum of the squares of the
. deviations is at a minimum is -
(1) median and mode -

(2) median
(3) mode
(4) mean

The most frequently occurring valpe in
a distribution is called

(1) mode

(2) median

(3) mean

(4)  mean and median
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10.

1L

If a constant is subtracted from the
data, its standard deviation will
(1) decrease by the constant

(2) increase by the constant

(3) decrease by the square of constant
4) remain unchanged '

If the data are divided by a constant
(1) the mean and standard deviation
will be reduced to the extent of
~ division by the constant

(2) mean will remain unchanged and

standard  deviation will be

lowered

(3) standard deviation will remain
unchanged and mean will be

- lowered '

(4) both mean and standard deviation
will remain unchanged

Mantle is composed of
(1) Anhydrite (2) Peridotite
(3) Halite {4) Gypsum

Select the correct statement :

(1) moho line separates lithosphere
and asthenosphere -

(2) moho line separates .
asthenosphere and mantle

(3) mantleisa soft layer

(4) asthenosphere is a soft layer

Dome-shaped magma deposit at the
minimum depth is
(1) stock

(3) batholith

(2) lapolith
(€] _laccolith

The factors which assist in valley
deepening are

A. ‘abrasion

B. Atrition

C. hydraulic pressure

D. pot hole drilling

(1) A,BandC

(2) A,B,CandD

(3) B,CandD_

4 A,CandD
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Positive change m base level occurs
when

(1) sealevel remains stationary

(2) sealevel falls

(3) sealevel rises

(4) valley floor is uplifted

Homosphere includes
A. Stratosphere

B. Troposphere

C. Mesosphere

D. Exosphere

(1) A,B,CandD
(2) A,BandC

(3) CandD .
4) A,CandD

Significant warmer/s of the earth’s
surface is/are

A. Short wave solar radiation
B. long wave counter radiation

C. heat of earth’s interior

D. prevailing winds
(1) AandB
(2) A,BandC

(3 AB,CandD

4) A only

If there were no circulations on the

earth, we would have experienced

temperatures more
(1) contrasts
(3) low

(2) equaBle
(4) fluctuating

Isotherms join the placesof

(1) equal recorded temperatures

(2) equal temperatures adjusted at the
sea level

(3) equal lowest recorded
temperatures

(4) equal highest recorded
temperatures
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Mass of water vapour contained in a
given mass of airisits -

(1) absolute humidity
(2) relative humidity
(3) latent humidity

(4) specific humidity

With increasing temperature, the
moisture holding capacity of air

(1) increases at constant rate
(2) increases at decreasing rate
(3) increases at increasing rate

4) decreases at increasing rate

The cloud type with vertical growth is .
(1) Stratus '

(2) Altostratus

(3) Cirrostratus

(4) Cumulonimbus

Towards the poles, defiection force |
@) dccreaﬁes -
(2) increases

(3) remains constant
(4) fluctuates

An anticlockwise inward wind
circulation wilk be a/an

(1) cyclone in northern hemisphere
(2) cyclonein southern hemisphere -

(3) anticyclone in northern
" hemisphere

(4) anticyclone in southern
hemisphere
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26.

27.

- (3) 13

- (3) 300-1000

The gyre of ocean currents in northern

and  southern  hemispheres s

respectively

(1) anticlockwise — anticlockwise
(2) anticlockwise —clockwise

(3) clockwise — anticlockwise

(4) clockwise —lockwise

If the moon’s rotational speed is
doubled, the next tide at a place will be -

delayed by (minutes)
(1) 104 ) 52
{4) 26

If the rotational speed of the earth and
the moon is reduced to half, the next
tide at a place will be delayed by

- {minutes)
(1) 13 (2) 26
(3) 52 (4) 104

The type of climate found roughly
between 45° — 65° latitudes on the
eastern margins of the continents, is
(1) West European (2) St. Lawrence
(3) Hotdesert (4) Monsoon

Haloclinal condition exists between
the oceanic depth of (metre) '

(1) 1500-2000 (2) 100-300
(4) 1000-3000

An almost continuous strip extending
from Sasaram in Bihar to Chittorgarh
in Rajasthan belongs to the rock
system

(1) Cuddapah

(3) Gondwana

(2) Dharwar

(4) Vindhyan
04
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31,

3 M &
@) (i) Gv) @ O

Match List-I (direction of mountain
building force in the building of
Himalayas) with List-TI (its advocate)
and select the answer from the given
codes : | '

List-1 List - It
(a) From north - (i) Kober
(b) From south (i) Suvess
(c) Frombothsides (iii) Argand
(d) Noside (iv) Burrard
Codes : _

@ ® © @
1 @ G @) Gv)
2) @) G @ v

(i)

According to Koppen’s scheme, Amw
type of climate is foundin '
(1) Kerala

(2) Madhya Pradesh

(3) Rajasthan =

(4) Jammu-Kashmir

Select the correct statements about

cylindrical equal area projection :

A. Equator & poles are equal in
length.

B. it is a homologmphic &
orthomorphic projection.

C. longitudes are equal to the
diameter of the reduced earth.

D. longitudes are equi-spaced.

(1) AL BandD (2) A,CandD

(3) CandD (4) AandD

In Mollweide pr_ojection', | the central
meridian is represented :

¢} eqﬁal o its actual length

(2) longer than its actual length

(3) shorter than its actual length -

(4) 173 of equator

https://lwww.freshersnow.com/previous-year-question-papers/
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32.

33.

35.

36.

-3 -1.0

The given scatter diagram represents
approximately the ‘s’ of

(2) -0.6
@ 10

(1) 0.6

The Rank correlation for the following
data will be

X-2,6,4,6,2
Y-4,4,4,4,4 :
(1) 0.1 (2) 1.0
3) 00

4y 0.55

Mercator projection is not

1)

2

3)
@

homolographic .

orthomorphic

azimuthal

orthomorphic and a:umuthal -

"The c_Iiniatic determinant/s in Rajasthan

isfare

A.
B.
C.
D.

(1

¢))

E)

(4

location of Aravalis
direction of Aravalis

distance from sea

uncertainty of rainfall
Conly

A and B only

A and C only
A,BandC

The pair of districts having red and

M

2)

3)

- yellow soils, is

Bharatpur — Dholpur
Sriganganagar - Hanumangarh
Sawai Macdhopur — Karauli

(4) Jhalawar — Baran

04
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38.

39.
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(1) 250
(3) 100

The pair of districts having teak forest,
is '

(1) Udaipur - Rajsamand

(2) Sirohi - Pali

(3) Jalore - Jodhpur

(4) Banswara ~ Dungarpur

The mm isohyet line which divides
Rajasthan into almost two equal
halves, is ' :
- (2) 500

4) 50

The decreasing trend of rainfall in -

Rajasthan is specifically from

(1) southwest and southeast to
northwest

(2) southwest to northeast

(3) southeast to north

(4) northeast to southwest

Star sanddunes are found near
(1) Jaisalmer (2) Jodhpur
(3) Suratgarh (4) Barmer

'Vindhyan escarpment in Rajasthan

mainly consists of -
(1) sandstone (2) limestone
(3) quartzite " (4) dolomite

Percentage of cropped area to the total
area of Rajasthan is approximately

(1) 42 (2} 51

(3) 70 4) 80

. - The correct sequence of orogenies is

_ (1) Cambrian, Variscan, Calidonian

and Alpine

(2) Chernian, Caledonian, Hercynian
and Alpine

(3) Armorican, Caledonian, Alpme :
and Chernian

(4) Caledonian, Hercymén, Cambnan
and Alpine

https://lwww.freshersnow.com/previous-year-question-papers/
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45.

46.

47.

48.

Inverse relationship between height
and density of relief columns was
hypothesized by

(1) Airy

(2) Holmes

(3) both Airy and Holmes

(4) Pratt '

‘Terranes’ are

(1) Crustal pieces migrating due to
mantle convection and plate
tectonics

convergent plates .

divergent plates

transcurrent plates

@
(3}
4.

The gwen ﬁgure represents the type of
fold

7
/
/, S
s S /
/
V4 .
(1) symmetrical (2) monoclinal
(3) isoclinal (4) recumbent

The given ﬁgure represents the type of
fault _

(1) normal
(3) tear -

(2) reverse
(4) step

Dynamically induced belt/s is/are

(1) sub-tropical high pressure only

(2) sub-polar low pressure only

(3) both sub-tropical high & sub-
polar low pressure

(4) polar high pressure
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50.

51.

52.

- (3) easterlies

Had there been level land surface and
no earth rotation, the winds would
blow with reference to isobars

(1) parallel (2) oblique
(3) atright angles (4) haphazard

Coriolis force is maximum on
(1) land breeze

(2) seabreeze

(3) trade winds

(4) polar winds

The winds blowing with constant
speed and direction due to the sum of
forces working on them is zero, are

~ called

(2) _geostrophic
@ jet

(1) westerlies

Match List — I (Koppen’s codes) with-
List — II (climatic types) and select the

" correct answer from the -given codes

below :
List-1 List -IT
(@ A (i) Dry climate
(by B (i) Mild, humid-
_ mesothermal -
¢y C (iii) - Polar climate
@ E (iv) Tropical rainy
climate '
Codes :
@ O (© @
1 @ (ii) (iii) _(iv)
(2) Gv) @) (i) @
-3 (v @ @G @)
@) Gy di v @
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(1) 5-10%.

Match List-I (Theories of atoll
building) with List — H (propounders)
and select the correct answer from the
codes given below :

List - I List-11 -
(a) Antecedent (i) Darwin
platform '
(b} Glacial (i) Agassiz
control
(c) Subsidence (iii) Murray
(d) Erosion (iv) Daly
Codes : B
@ d (o @
(1) (iii)_ (iv) (@) G
2y @ @@ 3D Gv)
(3) (ii) _(iv) G (1)
@ @ av) (i) ()

Ideal salinity for coral growth is
(2) 10~17 %o

(3) 37-46%0 (4) 27-30%e

Hermatype is a type of
(1) coral

(2) climate

(3) intrusive rock

(4) extrusive rock

An almost continuous belt extending
from Jaisalmer, Barmer, Jalore to

Chura, Jhunjhunu relates to the
cultivation of -

(1) Jowar (2) Guar

"~ (3) Bajra . (4) Mustard -

The most benefitted district from

Narmada project is
(1) Jalore (2) Barmer
(3) Jodhpur (4) Jaisalmer
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- (1) Huntington

The districts having highest and lowest
increase of density of population over
the last census decade (2001-2011)is

- respectively :

(1) Jodhpur - Banswara
(2) Kota - Dungarpur
(3) Jaipur - Jaisalmer
{4) Alwar — Dholpur

The Greek scholar who held the idea
that ‘all history must be treated
geographically and all geography must -
be treated historically is

(1) Thales

' (2) Herodotus

(3) Hecateous

(4) Anaximander

The scholar who undertook study of
European boundary problems at the
time when events were leading to
World War ~ I, was '

(2) Hartshome

(3) Saver (4) Ratzel

The famous paper “The Morphology
of Landscape™ was presented by

(1) Ritter ~(2) Huntington
3) Hartshorne {(4) Saver

The type of migration when intending
migrants come back to their native
couatries, is specifically

(1) forced migration
(2) out migration
(3) return migration
(4) deportation
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65.

66.

67.

@

Economically, the most significant
industrial region of Japan is -

(1) Nagoya

(2) Kwanto

- (3) North Kyushu
. (4) Kobe - Osaka — Kyoto

Select the correct statement :

A, Now Venezuela has surpassed
Saudi Arabia in known oil
reserves to stand first.

B. Saudi Arabia possesses world's
largest oil reserves.

C. Saudi Arabia possesses 1/5 of
~ World’s reserves.

D. Saudi Arabia is the world’ $ largest

producer and exporter of oil.
(1) BandC
(3) B,Cand D

(2) A,CandD
(4) B only

The world’s largest u_rémium producers
in decreasing order are

(1) Kazakhstan, Canada, Australia

(2) Niger, US.A,, Canada

(3) U.S.A., Australia, Canada

4 U.S.A., South Africa, Kazakhstan

“Unified Field Theory” unifies

(1) three different regions

(2) ideas of Jackson, Pounds and
‘Whittlsey

(3) ideas of Hartshorn, de Blij and.

Jackson

ideas of Whittlesey, Hartshorne

and Gottman

‘Idea-Area Chain’ explains the theory

of

- (1) Heartland
 (2) Rimland

(3) Unified field
(4) Evolution of boundaries
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68.

69.

70.

71.

72.

730 ’

(1) Volcanic

A zone separating two sovereign states
is known as a '

(1) frontier
(3) buffer state

(2) boundary
(4) legal line

The concept of geological structure in
the evolution of landforms was given
by

(1) E.H. Brown

(2) R.J. Chorley .

(3) W.D. Thornbury

(4) A.N. Strahler

The factor not assumed by von Thunen

in influencing the type of agricultural

production at a location, is

(1) land rent

(2) climate

(3) distance to market

(4) selling price of product in the
market

The earthquake epicentre is located at
(1) 90° from focus

(2) 45° from focus

(3) centre of the focus
(4) parallel to the focus -

Which one of the following is not. a
type of earthquake ?

(2) Tectonic -
(3) Collapse {4) Composite

Which is not a correct match ?

- Land forms Formed by
(1) Alluvial Fan — = River
(2) Moraine —  Glacier
(3) Blowouts -  Wind
(4) Eskers - Wind
=
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The term ‘albedo’ implies :

(1) capacity to absorb heat

(2) capacity to modify path of sun
rays

amount of solar
reflected by surface

amount of heat transferred to air
by the surface

radiation

3)
@

The highest height of the tide in the
world has been recorded at ;

(1) Gulf of Fundi

(2) Gulf of Mexico
(3) Bay of Bengal

: (4) North Sea

In which state/union territory is the
southernmost point of India located ?

(1) Kerala

(2) Tamil Nadu

(3) Nicobar Island

(4) Lakshadweep Island

Which one of the following area is not
having mangrove forests ? -

(1) Andman and Nicobar Islands

(2) Sunderbans in West Bengal
(3) Mahanadi and Godavari delta
(4) Coastal area of Kerala

Which is not a correct match ?

Soil Type  State/Area
(1) Laterate soil West Bengal
(2) Black soil Andhra Pradesh
" (3) Alluvial soil Middle Ganga
' - Plain
Peaty soil  Coastal areas of
_ - Odisha
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Which onie of the following is not a

branch of huhan geography ? '
(1) Environmental geogtaphy |
(2) Social geog_raphy

3 Political geography

 (4) Settlement geography

Which type of scale can be used
universally ?

(1) Graphical scale
(2) Statement scale -

(3) Representative fraction

(4) Diagonal scale

When a very long distance is shown on

~ a small map, its scale is called

(1) Large scale
(2) Small scale
(3) Universal scale
(4) Ordinary scale

The percentage of carbon dioxide in
atmospheric gasesis:

(2) 0.001

(3) 0036 4) 093

‘Which of the following is not a result

of orogenetic movement 7
(1) Faulting

(2) Folding

(3) Warping

4) Subme_rger_mc
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85.

86.

87.

38,

Which is not a planetary winds ?
(1) Trade winds

(2) Westerly winds

(3) Monsoon winds

(4) Polar winds

Which ooze is most abundant m
Atlantic ocean ?

(1) Globigerina
(3) Pteropod

(2) Radiolarian
(4) Diatom

Who used the word ‘probablism’ in
place of ‘possibilism’ ? -

(1) A.J. Herbertson

(2) O.H.K. Spate

(3) Isaiah Bowman °

-{4) M.J. Fleure

The - geographer who believe in
adjustment between nature and man in
his book, ‘Cultural Geography’ was :
(1) Karl Sauer

(2) PM.Roxby

(3) Vidal de la Blache

(4) Huntington

Match List-I with List-II and select the

correct answer using code given below :
List -1 List - 1I
(Industrial Region) (Country)
A. Midlahd Region (i) - Japan
B.  Pittsburgh (ii) France
C. NagoyaRegion  (iii) United
Kingdom
D.- Rhone valley (iv) US.A.
Codes 3 .
A B C D
(1) Gy Gv) @ @)
) a4 G Gv) @
-3 G G @ v
(v) (i) () @

)
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91.

92.

93.

3)

(4) M. Chisholm -

Who is known as ‘father of systematic
geography’ ? '
(1) Eratosthénese

(2) Aristotle '

'(3) Hipparchus

(4) Posidonius

Which is not a correct match ?

(1) Humboldt -
(2) Ritter -
Ratzel -

Vidal-de- -
la-Blache-

Kosmos
Die Erdkunde -
Ant_hropogeography

Nature of
Geography

)

Who said, ‘Man is the latest agent in
fashioning of the landscape’ 7

(1) D. Harvey (2) Hartshorne
(3) Huntington (4) Carl Saur

Which is not a correct match ? _
Special Field
Radical

- Geography

Geographer
(1) R.Peet

]

(2) D.M. Smith Environmental
Geography
Behavioural
Geography
Idealism in
Geography

(3) IR Gold

Which one of the following is not a |
sub-economic region of peninsular
plateau of India ? '

(1) Mabharashtra Plateau

. (2) Bundelkhand Plateau

(3) Karnataka Plateau
(4) Andhra Plateau
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(1) Pwave
| (3) L wave

" (3) Lapolith

Which wave we can see in seismic
shadow region 7

(2} S wave
(4) None

Which is largest mtruswe relief made

by volcano ?
() Batholiths (2) Lacoliths

{4) Phacolith

When was ‘Sea floor spreading’ theory
- presented 7

(1) 1960 (2) 1961

() 1962 4) 1965

‘Mud Flow’ and ‘Earth Flow’ is types

- of
(D) Land_slides

{2) Slow movements
(3) Rapid movements
(4) Avalanche

Which plate is situated between Indian
and Philippian plate from following 7

(1) Cocoas E (2) ‘Fuji
(3) Caroline (4) Nazca .

~ ‘Oxbow’ lake is developed in which

stage ?

(1) Youth stage

(2) Maturé stage
3) Pre-rnan&e stage
(4). OId stage
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‘Uvalas’ is also known as ;
(1) Valley sinks

(2) Collapse sinks

(3) Doline sinks

{4) Cave sinks

In which era the Thar Desert was part .

of Ocean ?
(1) Proterezoic * (2) Cenozoic
(3) Pre-cambrian (4) Mesozoic

The following India map is shbwilig
the location of 4 hills in North-East

part of India as A, B, C and D. Identify -

the correct name of hills : .

(D)

A-Dafla, B-Patkoi Bum, C-Naga,
. D-Mizo |

(2) - A-Patkoi bum, B-Dafla, C-Naga,
D-Mizo

(3) A-Dafla, B-Patkoi bum, C-Mizo,
D-Naga

(4) A-Dafla, 'B-Naga, C-Mizo,
D-Patkoi bum
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“Nature

(3 13

Which is a major concept of Airy ?

(1) Varying Densny with Uniform
Thickness

(2) Uniform Density with Varying

Thickness

Uniform Density with Uniform

Thickness

Varying Density with Varymg'

Thlckness

3
(4)

‘Mobility Transition Model’ for

migration is given by
(1) Lee (2) Zelinsky
(3) Stouffer (4) Zipf

is not mandatory but
permissive.” Statement given by

(1) Blache (2) Ratzel
(3) Brunhes (4) Semple

Western boundary of ‘Corn Belt’ in
USA have determined by '

(1) 100 cm. isohyet
(2) 75 cm. ischyet
(3) 50 cm. isohyet
(4) 65 cm. isohyet

‘Taulouse’ industrial region of France
is famous for which industry ? -

(1) Iron and Steel
(2) Automobiles
(3) Cotton Textile
(4) Aircraft |

Accbrding to Whitlesey how many
agricultural regions in the world 7

1 1 2 12

@) 14
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(2) CAW
(4) EAd.

(1) DAW
(3) DBw

" Codes :

109. Who was the first ‘Teleologlst’

(1) -Aristotle
(2) Anaximander
(3) Polybious
(4) Ptolemy

‘110, Which districts are included in

‘“Transitional Plain of Luni Basin’
Agro-climatic region of Rajasthan ?
(1) Jodhpur, Nagour, Thunjhunu

(2) Pali, Sirohi, Jalor =

(3) Barmer, Sirohi, Pali

(4) Barmer, Jodhpur, Ajmer

111. Match the following :

Population Density
_ /sq km (2011)
(A) Jaipur @ 503

(B) Bharatpur (ii) 476

{(C) Dausa (iii) 438

D) Alwar (iv) 595

District

(A) B) (© (D)
L @ @) @i G

() vy () G (i)

3 v O . @ (i)
@ Gv) G @ (i)

112, Accordmg to Thornthwalte which

climatic region is shown in the map of
Rajasthan given below ? '

(1) DAW
(3) DBw

(@) CAW
(4) EAd
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114.

(1) 1970

115.

116.

117.

113. ‘Rajasthan Forestry and Biodiversity

Project’ runs with the help of
(1)

International  Foundation = for

‘Research and Development
Asian Development Bank
World Bank |

Japanese International Cooperation
Agency '

()
@)

“Behavioural Geography’ was develop

in which decade ?
(2) 1980
(3) 1960 (4) 1940

According to Weber, if materials index
is high then industry will locate at

(1) Near Market
(2) Between Market and Raw material
(3) " Near Raw material

~ (4) Ubigquities

What is the correct sequence in the
chain of the Unified Field Theory ?

D

Political idea, Movement, Decision,
Political area, Field

2

Political idea, Decision, Movement,
Field, Political area

(3) Decision, Political idea, Field,

Movement, Political area

Political area, Field, Movement,
Decision, Political idea

Q)

Which of the following place is
sitiated in North of Tropic of Cancer ?

(1) Jabalpur (2) Bokaro
(3) Purulia {4) Bhyj
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119.

120,

121.

122.

‘not

(1) Teacher

~ (3) Classroom

In first phase of “National Hentage
City Development & Augmentation. -
Yojana” of Central Government, the
selected city of Rajasthan is

(1) Jaipur - (2) Ajmer
(3) Udaipur (4) Jodhpur

During which Census decade, sex-
ration in India reglstered the sharpest
decline ?

(1) 1951-61
(2) 1981-91
(3) 1961-71
(4) 2001-11

W]:uch one of the followmg facts was

considered by those while

discussing the concept of sea floor

spreading ?

(1) Volcanic activity along the nud-

oceanic ridges.

Stripes” of normal and reverse

magnetic field observed in rocks

of ocean floor.

(3) Distribution of fossils in dxfferent
- continents.

(4) Age of rocks from the ocean
floor.

2

Learning is a
(1) Stage of knowledge
(2) Power of knowledge

(3) . Process for bringing improvement
i$ a creatures behavioul_'
Motivation in a
behaviour_ :

creatures

“)

Centre of teaching leéming is:

(2) Learner

(4) Play ground
n :
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123. Two main ways of Learning are :_

124.

(1) Deductive and inducﬁve~ .
(2) Negative and positive
(3) Simulative and non simulative

(4) Teachers and Pupils

For effective teaching which of the

~ following characteristics is not necessary ?

125.

126.

@

(1) Knowledge of subject matter
Teacher confidence |

Good Knowledge of English
language

3

Good Knowledge of classroom
management and teaching method

4

In the famous book who written “New
life for a-man begins when he passes
through adolescence.” (Adolescence)

(1) Skinner
(2) Huil
(3) Tolman

(4) Stanley Hall

The child js hardly Worried about

“society, but an adolescent develop

(1) Emotional consciousness

(2) Community feeling

“(3) Social consciousness

(4) Family feeling
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128.

129.

130.

131.

The social expectations' of mature
behaviour from the adolescents bring
in his ;

(1) Inferiority complex

(2) Superiority complex

(3) Develop the feeling of group

(4) Develop social unity

During Adolescence mental agitation

reaches its

(1) downfall

(2) peak _

(3) top development
(4) negative form

Learning is essentially the attaching of
a response to a stimulus is called

(D) Behaviourist Approach

(2) Social Approach

(3) Economical Approach

(4) Ethical Approach

Learning is a goal oriented activity.
The factors contributing for its success
are :

(1) Environment

(2) Strong motivation of the students
(3) Mental set-up of the students

- (4) Aboveall

The students interested in_particular
learning activity if the teacher select
and organize the learning unit in such
a way that the students wﬂl develop
(1) Teaching aid

(2) Interestin it

(3) Black board work

(4) Read thé lesson
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A mentally healthy person understand
every new situation to adopt himself.
Through mental health, a person

(1) can adjust very well

(2) do not adjust any where
(3) create disturbance in the society

(4) do not handle any situation

How we prevent mental ill health' of

. the adolescents in the educational

institutions ?

By providing healthy environment
By providing effective teaching
atmosphere _
(3) By providing need based
: curriculum
(4) Above all

What is the role of a teacher to

maintain his mental health ? '

(1) Do not teach the classes

(2) Not sincere about
profession

teaching

(3) Loyalty to profession

(4) Not behave properly

Which step is not included in
individual education guidance ?

- (1) Group psycholdgical test

(2) Special mental abilities
(3) Aptitude and attitude

(4) Personal characteristics
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136.
-and  communication technology in

2

137.

138,

139,

140.

.3

C))

What are the main aims of information

Education ?

(1) Communicate education and

research subject matter

Orient the present generation in

cyber education age _
To establish digital libraries
(4) Above all '

What is the need of communication
technology in education 2

(1) To fulfil the demand of education

(2) To make subject matter according
to the need of the students

To make teaching learning more
casy -

Above all

3)

What are the main functions of
computer 7 -

(1) Data collection

(2) Data storage
(3) Data processing
(4) Above all

What are computer programme main
steps ?
(1) Prepare a list of problems

(2) Set the probiems stepwise

(3) Prepare a diagram explain the
different steps of the program

. (4) Above all

What are terminology related to

computer ? _
(1) Software package
(2) Operating system
(3) Read only Meinory
(4) Above ail
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What are the main roles of information
communication technology 2

(1) Collection of information

(2) Communicate or
informations

(3) Retrieval of information

(4) Above all

transfer

Application - of Information &
Communication Technology
(1) Use of Information Technology in

teaching

(2) Distribution of Infrastructure &
use of Information Technology

* (3) Use of Information Technology in

the professional growth of teacher
(4) Above all

Learning means

(1) Bringing temporary change in

behaviour
(2) Bringing maturity in practice and
teaching - -

(3) Bringing expected changé in

behaviour through direct and
indirect experience

(4) Making few changes in behaviour
for fulfilment of needs related to
epvironment '

If 2 small child dropped his/her ‘rotj’
in water then, the other small child
will npt be in favour of giving ‘roti’ to
him/her. However an adolescent will
agree to give him/her another roti
keeping in view his/her young age.
This behaviour of the adolescent is

(1) good behaviour

(2) kindness

(3) moral development

| 4) Iﬁergy
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{1) Wonder

Which of the following is not included
in the developmental works of
adolescence ? :

(1) Developmént of all kinds of
essential concepts for macro or
micro business. :
Leading towards making - his/her
own identity.

Taking appropriate- steps towards
more self dependence
Development  of temporary
feeling towards objects, persons,
places and values

Most appropriate statement regarding

concept of constructivism is

(1) Construction of thoughts by
debate and discussion

(2) Construction - of thoughts by

explanation provided by teacher

in classroom S

Construction of - thoughts by

students in classrooms as directed

by their parents

Gaining knowledge through co-

curricular activities e

)
(3)
@

(3)

@

Which of the following is not essential
development . of - emotiopal
intelligence ? -

(1} Cognitive skills

(2) Mental development - . .

(3) Abilities of affective domain

(4) Channelization and refinement

The emotion accompanying  the
instinct of curiosity is

_ (2) Fear

(3} Anger (4) Distress
Which of the following is not
associated ~ with information' and
communication technology ?

(1) LAN (2) MAN

(3) OAN (4) WAN

Which of the following is not a type of
transfer of learning ? '

(1) "Positive transfer

(2) Negative transfer

(3) Distant transfer

(4) Zero transfer

3
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